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❚❛r❡❛ ✶

◆♦♠❜r❡✿ ❋❡❝❤❛✿

■♥str✉❝❝✐♦♥❡s✿ ❈♦♥t❡st❛ ✉t✐❧✐③❛♥❞♦ ❧❛ r❡❣❧❛
∫

x
n
dx = x

n+1

n+1
+ c ❧❛s ✐♥t❡❣r❛❧❡s q✉❡ s❡

✐♥❞✐❝❛♥✳

✶✳ ■♥t❡❣r❛❧ ❞❡ ♠♦♥♦♠✐♦s ② ♣♦❧✐♥♦♠✐♦s ❛❧❣❡❜rá✐❝♦s

❛✮
∫

x
5
dx ❘❡s♣✉❡st❛✿

❜✮
∫
√

x7 dx ❘❡s♣✉❡st❛✿

❝✮
∫

(x5 +
5x8

2x
) dx ❘❡s♣✉❡st❛✿

❞✮
∫

(

5x2 + 2
)2

x4
dx ❘❡s♣✉❡st❛✿

❡✮
∫ 7

3x10
dx ❘❡s♣✉❡st❛✿

❢ ✮
∫

x
5
(

x+ x
2
)3

dx ❘❡s♣✉❡st❛✿

❣✮
∫ 6x2

− 24x3
− 3x6 + 12x7

4x2
− x

dx ❘❡s♣✉❡st❛✿

❘❡s♣✉❡st❛s✿
1

2
x
6
− 3x2 + c❀

x
6

6
+ c❀ 25x−

20

x
−

4

3x3
+ c❀ −

7

27x9
+ c❀

x
9

9
+

3x10

10
+

3x11

11
+

x
12

12
+ c❀

1

6
x
6 +

5

16
x
8 + c❀

2

9

√

x9 + c

✶
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❚❛r❡❛ ✷

◆♦♠❜r❡✿ ❋❡❝❤❛✿

■♥str✉❝❝✐♦♥❡s✿ ❘❡s✉❡❧✈❡ ✉t✐❧✐③❛♥❞♦ ❧❛ r❡❣❧❛
∫

vndx = v
n+1

n+1
+ c ❧❛s ✐♥t❡❣r❛❧❡s q✉❡ s❡

✐♥❞✐❝❛♥✳

✶✳ ■♥t❡❣r❛❧ ❞❡ ♠♦♥♦♠✐♦s ② ♣♦❧✐♥♦♠✐♦s ❛❧❣❡❜rá✐❝♦s

❛✮
∫

(x5 + x4 + 5)3(5x4 + 4x3) dx ❘❡s♣✉❡st❛✿

❜✮
∫ √

x3 + 10x (3x2 + 10) dx ❘❡s♣✉❡st❛✿

❝✮
∫ 20x3 + 16x

(8x2 + 5x4)7
dx ❘❡s♣✉❡st❛✿

❞✮
∫ 7(5 +

√

x)6

14
√

x
dx ❘❡s♣✉❡st❛✿

❡✮
∫

(x4 + 4x3)10 4x2(x+ 3) dx ❘❡s♣✉❡st❛✿

❢ ✮
∫

(1 + x)
(

12x+ 6x2
)3

dx ❘❡s♣✉❡st❛✿

❣✮
∫ (

11 + 3x3
)20

(36x2) dx ❘❡s♣✉❡st❛✿

❤✮
∫ (

3x5 + 8
)5

(14x4) dx ❘❡s♣✉❡st❛✿

✐✮
∫ (

sin(3x2 + 2)
)8

(6x cos(3x2 + 2)) dx ❘❡s♣✉❡st❛✿

❥ ✮
∫ (

e3x+2 + 5x
)41 (

15 + 9e3x+2
)

; dx ❘❡s♣✉❡st❛✿

❘❡s♣✉❡st❛s✿
1

7
(5 +

√

x)
7
+c❀

1

48

(

12x+ 6x2
)4
+c❀

−1

6 (8x2 + 5x4)
6
+c❀

4

21

(

11 + 3x3
)21

+c❀
1

4

(

x5 + x4 + 5
)4
+c❀

7

45

(

3x5 + 8
)6
+c❀

1

14

(

e3x+2 + 5x
)42

+ c❀
1

11

(

x4 + 4x3
)11

+ c❀
2

3

√

(x3 + 10x)
3
+ c❀

1

9

(

Sen
(

3x2 + 2
))9

+ c❀

✶
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∫

dv

v
= ln |v|+ c ❧❛s ✐♥t❡❣r❛❧❡s q✉❡ s❡ ✐♥❞✐❝❛♥✳

✶✳ ■♥t❡❣r❛❧ ❞❡ ❢✉♥❝✐♦♥❡s r❛❝✐♦♥❛❧❡s

❛✮
∫ 10x+ 4

5x2 + 4x
dx ❘❡s♣✉❡st❛✿

❜✮
∫ 6x+ 18x2

3x2 + 6x3 + 21
dx ❘❡s♣✉❡st❛✿

❝✮
∫ 8x+ 9

4x2 + 9x− 12
dx ❘❡s♣✉❡st❛✿

❞✮
∫ 3x2 cos

(

x
3
)

sen (x3)
dx ❘❡s♣✉❡st❛✿

❡✮
∫ 15x4 + 24x5 + 14x6

6x5 + 8x6 + 4x7
dx ❘❡s♣✉❡st❛✿

❢ ✮
∫ 7

2x+ 4
dx ❘❡s♣✉❡st❛✿

❣✮
∫ 7 + 7x+ 7x5

6x+ 3x2 + x6
dx ❘❡s♣✉❡st❛✿

❤✮
∫ x

3 + x

(x2 + 5)(x2 − 3)
dx ❘❡s♣✉❡st❛✿

✐✮
∫ x+ 7

x− 5
dx ❘❡s♣✉❡st❛✿

❥ ✮
∫ 4x8 + 16x4 + 3

2x5 + 3x
dx ❘❡s♣✉❡st❛✿

❘❡s♣✉❡st❛s✿ ln
√
6x5 + 8x6 + 4x7 + c❀ ln

(

4x2 + 9x− 12
)

+ c❀ ln

√

(2x+ 4)
7
+ c❀ ln

(

senx
3
)

+ c❀ ln
6

√

(6x+ 3x2 + x6)
7
+ c❀

ln 4
√
x4 + 2x2 − 15 + c❀ ln

(

5x2 + 4x
)

+ c❀ x+ ln (x− 5)
12

+ c❀ ln
(

3x2 + 6x3 + 21
)

+ c❀
x
4

2
+ ln

(

2x5 + 3x
)

+ c✳

✶



❈➪▲❈❯▲❖ ■◆❚❊●❘❆▲
❯♥✐❞❛❞ ❯♥♦✳ ■♥t❡❣r❛❝✐ó♥ ❝♦♥ ❢ór♠✉❧❛
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∫ dv

v2 + a2
=

1

a
Arctg

v

a
+ c✱

∫ dv
√

a2 − v2
= Arcsen

v

a
+ c ②

∫ dv

v
√

v2 − a2
=

1

a
Arcsec

v

a
+ c

✶✳ ■♥t❡❣r❛❧ ❞❡ ❢✉♥❝✐♦♥❡s r❛❝✐♦♥❛❧❡s ❝♦♥ r❛❞✐❝❛❧❡s

❛✮
∫ dx

x2 + 49
❘❡s♣✉❡st❛✿

❜✮
∫ 12x2

√

9− 16x6
dx ❘❡s♣✉❡st❛✿

❝✮
∫ dx

x
√

x2
− 100

❘❡s♣✉❡st❛✿

❞✮
∫ x

17 + x4
dx ❘❡s♣✉❡st❛✿

❡✮
∫ 100x3

√

144− 25x8
dx ❘❡s♣✉❡st❛✿

❢ ✮
∫ dx

(x+ 1)

√

(x+ 1)
2
− 36

❘❡s♣✉❡st❛✿

❣✮
∫ 3x2

x6 + 32x3 + 260
dx ❘❡s♣✉❡st❛✿

❤✮
∫ x

(x2 + 7)
√

x4 + 14x2
dx ❘❡s♣✉❡st❛✿

✐✮
∫ x

(

4 + 9x2 + 4x6
)

9 + 4x4
dx ❘❡s♣✉❡st❛✿

❥ ✮
∫ 23 + 22x+ 8x2 + x3

10 + 6x+ x2
dx ❘❡s♣✉❡st❛✿

❘❡s♣✉❡st❛✿ 5Arcsen

(

5x4

12

)

+ c❀
1

2
√

17
Arctg

(

x2

√

17

)

+ c❀
1

6
Arc sec

(

x+ 1

6

)

+ c❀
1

2
Arctg

(

x3 + 16

2

)

+ c❀
1

10
Arc sec

(

t

10

)

+ c❀

x
2

2
+ 2x+ 3❆r❝t❣(x+ 3) + c❀ Arcsen

(

4x3

3

)

+ c❀
1

14
Arc sec

(

x2 + 7

7

)

+ c❀
1

7
Arctg

(x

7

)

+ c❀
1

4
x4 +

1

3
Arctg

(

2

3
x2

)

+ c❀

✶
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❚❛r❡❛ ✺
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∫

e
v
dv = e

v + c
∫

a
v
dv =

a
v

ln a
+ c

✶✳ ■♥t❡❣r❛❧ ❞❡ ❢✉♥❝✐♦♥❡s ❡①♣♦♥❡♥❝✐❛❧❡s

❛✮
∫

3x2
e
x
3

dx ❘❡s♣✉❡st❛✿

❜✮
∫

(10x+ 6)e(5x
2+6x+3)

dx ❘❡s♣✉❡st❛✿

❝✮
∫

14(7x+6)
dx ❘❡s♣✉❡st❛✿

❞✮
∫ 15

e3x
dx ❘❡s♣✉❡st❛✿

❡✮
∫
√

x3e

√

x
5

dx ❘❡s♣✉❡st❛✿

❢ ✮
∫ (

e
2x + 5

) (

6e4x + e
5x
)

dx ❘❡s♣✉❡st❛✿

❣✮
∫ 8e7x + 18e12x

2e3x
dx ❘❡s♣✉❡st❛✿

❤✮
∫ (

4e2x + e
6x
)2

dx ❘❡s♣✉❡st❛✿

✐✮
∫

25s❡♥①❝♦s①dx ❘❡s♣✉❡st❛✿

❥ ✮
∫
√

2510x dx ❘❡s♣✉❡st❛✿

❘❡s♣✉❡st❛s✿ ex
3

+ c❀ 4e4x + e
8x +

1

12
e
12x + c❀

147x+6

71n14
+ c❀ e

6x +
1

7
e
7x +

15

2
e
4x + e

5x✰❝❀ e
4x + e

9x + c❀ e
5x2+6x+3 + c❀

25s❡♥①

ln 25
❀

5e3x + c❀
55x

5 ln 5
❀

2

5
e

√

x
5

+ c✳

✶

-
2

2
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❚❛r❡❛ ✻
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∫

❈♦s✈ dv = ❙❡♥✈+ c
∫

❙❡♥✈ dv = −❈♦s✈+ c
∫

❙❡❝2v dv = ❚❣✈+ c
∫

❈s❝2v dv = −❈t❣✈+ c
∫

❙❡❝✈❚❣✈ dv = ❙❡❝✈+ c
∫

❈s❝✈❈t❣✈ dv = −❈s❝✈+ c
∫

❙❡❝✈ dv = ▲♥|❙❡❝✈+ ❚❣✈|+ c
∫

❈s❝✈ dv = −▲♥|❈s❝✈+ ❈t❣✈|+ c
∫

❚❣✈ dv = ▲♥|❙❡❝✈|+ c = −▲♥|❈♦s✈|+ c
∫

❈t❣✈ dv = −▲♥|❈s❝✈|+ c = ▲♥|❙❡♥✈|+ c

✶✳ ■♥t❡❣r❛❧ ❞❡ ❢✉♥❝✐♦♥❡s tr✐❣♦♥♦♠étr✐❝❛s

❛✮
∫

20x3❙❡♥
(

5x4
)

dx ❘❡s♣✉❡st❛✿

❜✮
∫

24❈♦s(8x) dx ❘❡s♣✉❡st❛✿

❝✮
∫

(2x+ 6)❚❣
(

x2 + 6x+ 9
)

dx ❘❡s♣✉❡st❛✿

❞✮
∫

120x5❙❡❝
(

5x6
)

dx ❘❡s♣✉❡st❛✿

❡✮
∫

x2❙❡❝✺①3❚❣✺①3 dx ❘❡s♣✉❡st❛✿

❢ ✮
∫

❙❡❝2(9x+ 3) dx ❘❡s♣✉❡st❛✿

❣✮
∫ x

(

❙❡♥①2 + 6
)

❈♦s①2
dx ❘❡s♣✉❡st❛✿

❤✮
∫

2 cos2 x dx ❘❡s♣✉❡st❛✿

✐✮
∫ 5

❚❣①
dx ❘❡s♣✉❡st❛✿

❥ ✮
∫

5x4❈s❝①5❈♦s①5 dx ❘❡s♣✉❡st❛✿

❘❡s♣✉❡st❛s✿
1

9
tg (9x+ 3)+c❀ ln

∣

∣sec
(

x2 + 6x+ 9
)
∣

∣+c❀
1

5
sec

(

5x3
)

+c❀ − cos
(

5x4
)

+c❀ ln
(

sec 5x6 + tg5x6
)4
+c❀ x+

1

2
sen (2x)+c❀

ln (senx)
5
+ c❀ 3sen (8x) + c❀ ln

(√
secx2

(

secx2 + tgx2
)3
)

+ c❀ ln
(

sen
(

x5
))

+ c✳

✶


